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Q;uesﬁ‘uns 1ic4d carzy ' mark each. Question 5 earfies 2 marks. For each quesuon,ﬁm options ate
ven. OnepEthem is the corrsct auswet, Make your-chice: (1,2, 3 of 4) aid shiade yout answer

nﬁ the Opteal Answer Sheet, (6 Iy ks)

1. 6 thousands4 hundreds 6 tens =
What is the missing number in: the hox abova?

) 646
@ 6046
{3) 6406 -
@) 6460

7. 3986+ [ 7 ]=4086

What is the missing number in the box above?
{M 10

2 100

{3 1000

@4y 10000

3. 9xE=
‘What, i3 the mmsing wurhber ih the Box above?
) 15
@ 4
@) 34
W 63



. The praph below shows fhie siuiibier of packets of drinks sold by Mrs Lim.

R sk the graph to andwer Questions 4 and 5

Green Tea

" umber of Packets of DrinksSold

Lemion Tea

‘ |

Soya Milk

Orange Juice

Y stands for 10 packets of drinks,

Hasy fany packets of soya nilledid Mrs Lin sell?

Sy 50
@y 40
@y s
@ 4

How marty fewer packets of lemon: tea than orange juice did Mrs Lim sefl?

a s
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Questioss 1o 12:carry 2 marks each. Show your working clearly and write.your answers in the
spaces provided. For-questions which reguirs-units, ghve your saswers in the units sfated.
(14 marks)

6.  Write five thousand and eighty-itie in rtumbers,

Ans:

7. {nthe mumber 7894, which digitisin the tens place?

What is dhe niissing nuniber ir the box above?

Ans:

9,  Studythenumber pattern below; What is the missing iutiber in the box?
5666, 5665, 3655, [ 7|, 5644, 5643, 5633, 5632




- 10, Mrs Tan gave some peiis. to each.of her & pupils.

Bach pupil veesived 5 pens.
Hew ritany pens did she give in fofdl?

11. When T.divide 51 by a number, the: quottant is 8 and the remainder is 3.

What is the number?

2. Adffer buyitig 63 moffins; Nora had £56 Teft,
ATy muﬂins 28 tha.

Shgbought? tlmesas

Fm' each statement _put a ﬁck (»./) in t‘he carrescl: cobtom.

Staterient

True

False

Mot possible.
fotdl

altegeﬂler

Nm atid Olivia bought 70 muﬁi’ns

'Glxm@bouglgrg;mufﬁm--

Nora spieiit $252 on the muffins.
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For questions 13 {0 18, show you workig cleirly and sirite your answers in the spaces provided,
The nurber of marks available is shown i brackets [ ] at the énd of each question.or part-question.
{10 marks)

13. A soccer ball costs $78.50. It costs §14.20 less than a basketball, How mugh does the
basketball gosi?

| Bala’s sotution:

| $78.50— $14.20 = $64.30
| The basketball costs $64.30.

“Theté is sothething wrong with Bala’s solution.

(2) ‘Showhow you would find the answer to the problei.

Ans: _ Pl

(b) Esxplein the mistake in Bala’s solution. [1 mark]
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14 Jackbought a table for $595 and'$ identical cligirefor §1385.
(3} How much toie did he-pay-for the chairs than the table?

Aost & 2]
{by How much did he sperd altogether?




15.

o

Tyler'bought 49 lollipops and some-choanlafe bars.

He wanted to pack thern equally inta goodie bags for'his friends.
Heput 7 loftipops and 8 chocolate bars fiito each goodie bag.
{2 How many goodie bags were there altopether?

Ans: (@) 2]
%) What was thototal number of shocolats bars Tylet packed in the goodic bags?
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TERM

2024 WA2

Q)

Q2)

Q3)

Q4)

Qb5)

W N W N A

Qs)

5089

Q7)

Q8s)

16

Q9)

5654

Q10)

40

Q11)

Q1t2)

Q13)

a)$78.50 + $14.20 = $92.70

The basketball cost $92.70
b)Bala should add instead of subtracting. They say it cost less, so we
should add. If they say it cost more than the basketball, we should
subtract.

Q14)

a)$13856 - $595 = $790
He payed $790 more

b}$1385 + $595 = $1980
He spent $1980 altogether.

Pgl
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Q15) a0 +7=7
b)8 x 7 = 56

- pg2.
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